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Gender-based Indexes



Multidimensional Poverty Index (MPI)



Human Development Index (HDI)

3 Dimensions

Long and 
Healthy life

Knowledge

Decent 
Standard of 
living

Life Expectancy at birth 

in 2010 years of schooling + 
expected years of schooling 

It was: adult literacy rate (2/3) 

+ gross enrolment ratio (1/3))

It was: GDI per capita

in 2010 GNI per capita



...HDI during COVID-19



HDI Goalspots 2018



Example
Let's calculate HDI of India ∛
Life Expectancy Index = LEI

Education Index = EI

Income Index = II

Mean Years of Schooling Index = MYSI

Expected Years of Schooling Index = EYSI

LEI • EI • II   

LEI = ______________LE - Min LE

Max LE - Min LE

EI = ______________MYSI + EYSI

2

II = ______________________________ln (GNI p.c.) - ln (Min GNI p.c.)

ln (Max GNI p.c.) - ln (Min GNI p.c.)



Example
DATA 

Average Indian Life Expectancy - 65

Mean Years of Schooling - 4.4

Expected Years of Schooling - 10.7

GNI p.c. - 5,350$ LEI = ______________
65 - 20

85 - 20

EI = ___________________(4,4/15) + (10,7/18)

2

II = ________________________ln (5,350) - ln (100)

ln (75,000) - ln (100)

=  0,692 

=  0,443

=  0,60115

∛ 0,692 • 0,443 • 0,60115 = 0,5695  



• Very High HD = > 0.8 

• High HD = 0.70 > X < 0.79

• Medium HD = 0.55 > X < 0.69 

• Low HD = < 0.55  

HD Ranges



IHDI - Inequality-adjusted Human Development Index

Since 2010 it adjusts HDI for inequality in each dimension across the population 

based on a distribution-sensitive class of composite indexes

• IHDI =HDI when there is no inequality across people

• IHDI < HDI in case of inequality

Interpretation:

IHDI = actual human development

HDI =potential human development

HDI - IHDI = “loss” in the potential human development due to inequality



The Example of 

Madagascar



Gender Development Indexes
It's similar to HDI

 same dimensions,

 same indicators,

 same normalization formula

but

 slightly different goalposts for life expectancy (82,5 for male and 87,5 for

female)

 Income earned estimated for female and male by taking into account their

participation rates to the labour force

GDI= (HDIF/HDIM);

It ranges from 0 (worst) to 1 (best, when GDIF=GDIM )



GDI - Japan Example



Gender Inequality Indexes

The gender-based disadvantage in 3 dimensions: 

• Reproductive Health (Maternal mortality ratio + Adolescent fertility rate)

• Empowerment (Educational Attainment: F-M; Parliamentary Representation: F-M) 

• Labour market (F-M labor force participation rate).  

Loss in potential HD due to inequality between M and F

it ranges between:

0 (no inequality) 

1 (max inequality)



Multidimensional Poverty Index 
(only for developing countries)

Since 2010 - Multiple deprivations in the same three dimensions by using 

10 indicators: 

• Health: nutrition, child mortality

• Education: years of schooling, children enrolled

• A decent standard of living: cooking fuel, improved sanitation, electricity, safe 

drinking water, assets, etc.

product of headcount ratio H and average intensity of deprivation A 

(proportion of dimensions in which households are on average deprived)

MPI = H x A



MPI values for Kenya regions 

in comparison with other 

countries (2015)

A brief example...

https://hdr.undp.org/system/files/documents//mpitrainingmaterial2015pdf.pdf 



Indicators and 

Thresholds

1

2

3



Indicators and 

Thresholds/2

• Weights: each dimension is equally weighted (1/3) and each indicator within a 

dimension is also equally weighted [nb: education and health (each 

indicator=1/6); standard of living (each indicator=1/18)]

• Multidimensional poverty thresholds: cut-off of 3 (=1/3 of the indicators). A 

household is identified as multidimensionally poor if it is deprived in some 

combination of indicators whose weighted sum exceeds 30% of all deprivations.

• MPIndex = product of headcount ratio and average intensity of deprivation 

(proportion of dimensions in which households are on average deprived)



Example using Hypothetical Data



Useful links

• https://hdr.undp.org/content/calculating-multidimensional-poverty-index

• https://hdr.undp.org/data-center

• https://hdr.undp.org/data-center/country-insights#/ranks

• https://hdr.undp.org/content/2022-global-multidimensional-poverty-index-

mpi#/indicies/MPI

• https://hdr.undp.org/data-center/thematic-composite-indices/gender-inequality-

index#/indicies/GII

"Two steps forward, one step back - where are we heading 

with gender equality?"



Let us calculate the HDI for Kenya on the basis of the following 

indicators:

• Life expectancy at birth = 61.6

• Expected years of schooling = 11.0

• Mean years of schooling = 6.3 

• GNI per capita (2011 PPP $) = 2762

Problem set


